[bookmark: _GoBack][image: ]COURSE FOUR – Exercise 2.
[image: ]Use the data in the three tables to model member ship of the three health states over 10 cycles, you will generate outcomes for Baseline, Treatment One and Treatment two. Using a spreadsheet will make this much easier.

Add in the tariffs for costs and QALYs, taken from the 4th table

Work out the total costs and QALYS for Baseline, Treatment One and Treatment

Calculate the Net Monetary Benefits for all options using a threshold of $20,000

[image: ]Which option is best against the criterion of cost-effectiveness?
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Costs QALYs

1,035,000   690     

1,377,000   582     

1,431,000   484     

1,342,440   398     

1,192,536   325     

1,025,179   264     

862,834       213     

715,881       172     

588,073       138     

479,680       111     

TABLE 2


